
 -2_ cfGtl/s >f]t / /fhZj jf*kmf* M 2346=50 1_ g]kfn ;/sf/

#_ bft[ ;+:yf M                                       /sd ?=xhf/df

kl/df)f ef/ ah]^ kl/df)f ef/ ah]^ kl/df)f ef/ ah]^

c_

1

em=lk=g=kf= )( / !) wf/fkfgL hfg] jf6f]sf] 6f]l6 gfnfdf c:yflo k'n 
lgdf{0f k|=;= 100 0.64 15.00 100 0.64 15.00 100 0.639 15.000

2

em=lk=g=kf= pk:jf:Yo rf}ls blIf0f l;b j}hgfy hfg] ;8s dd{t 
;Def/ sfo{ k|=;= 100 1.19 28.00 100 1.19 28.00 100 1.193 28.000

3

em=lk=g=kf #= lkknf8L hfg] ;8s dd{t ;Def/ sfo{
k|=;= 100 1.28 30.00 100 1.28 30.00 100 1.278 30.000

4

em=lk=g=kf !)= lqd'lt{ l;bj}hgfy dlGb/sf] tf/jf/ ;+/If0f  sfo{
k|=;= 100 0.43 10.00 100 0.43 10.00 100 0.426 10.000

5

emnf/L SofDkz hfg] / lkknfl8 vh'jf hfg] ;8s dd{t ;Def/
k|=;= 100 1.79 42.00 100 1.79 42.00 100 1.790 42.000

6

em=lk=g=kf %,^ / ( df jiff{n] lju]|sf ljleGg ;8s dd{t ;Def/
k|=;= 100 0.89 21.00 100 0.89 21.00 100 0.895 21.000

7

em=lk=g=kf & df jiff{n] lju]|sf ljleGg ;8s dd{t ;Def/
k|=;= 100 1.28 30.00 100 1.28 30.00 100 1.278 30.000

8

em=lk=g=kf % df jiff{n] lju]|sf ljleGg ;8s dd{t ;Def/
k|=;= 100 0.43 10.00 100 0.43 10.00 100 0.426 10.000

9

em=lk=g=kf !) df jiff{n] lju]|sf ljleGg ;8s dd{t ;Def/
k|=;= 100 1.02 24.00 100 1.02 24.00 100 1.023 24.000

10

zxl/ ;'/Iff sfo{qmd
k|=;= 100 2.81 66.00 100 2.81 66.00 100 2.813 66.000

9=sfof{no k|d"vsf] gfd M >L /#'gfy cj:yL

s}lkmotOsfO{

gu/kflnsf cfGtl/s s]fif / /fhZj jf*kmf* jf^ ;+rflnt k'+hLut vr{ cGtu{tsf sfo{qmdx? M

t];|f ] rf}dfl;s cjwL;Ddsf] nIo t];|f ] rf}dfl;s cjwL;Ddsf] k|utL

7=cfof]hgf z"? ePsf] ldlt M 2072 ;fn                               1= g]kfn ;/sf/

8=cfof]hgf k"/f x"g] ldlt M ;fnj;fnL                               2_ ;:yf

l;=g+= lqmofsnfk ljj/)f

jflif {s k|ult k|ltj]bg

jflif {s nIo

                              3_ hg;xeflutf

 -3_ hg;xeflutf M                      2_ ;:yf

5=sfof{nosf] gfd M emnf/Llkknf*L gu/kflnsf sfof{no  4_ lh=lj=;=jf^ ;rflnt ?=1505=00          3_ hg;xeflutf

6=:Yffg M s_ lhNnf M sGrgk'/                                12_ ut cf=j= ;Ddsf] vr{ ?+

      v_ uf=lj=;=÷g=kf j*f g+= emnf/Llkknf*L g=kf= u_ ;^lx b/ M                     s_ cFGtl/s

4=ljefusf] gfd M

 cf=j=2072÷073 sf] jflif{s k|ltj]bg
1=cf=j=M2072÷073 10=aflif{s jh]^ ?= 3851=50         11= cfof]hgfsf] s'n nfut M                

2=ah]^ pk– lzif{s M gu/kflnsf cfGtl/s s]fif, /fhZj jf*kmf* / lh=lj=;= s_ cfGtl/s-1_ g]kfn ;/sf/ M        s_ cfGtl/s

3=dGqfno M >L ;+l#o dfldnf tyf :yfgLo ljsf; dGqfno



11

em=lk=g=kf $lzj dlGb/  kl/;/ leq dd{t ;Def/
k|=;= 100 0.85 20.00 100 0.85 20.00 100 0.852 20.000

12

k'j{ klZrd /fhdfu{ ;/;kmfO{ cleofg
k|=;= 100 1.90 44.50 100 1.90 44.50 100 1.896 44.500

13

em=lk=g=kf ! df gu/:jf:Yo lSnlgs jG;xfsf] lkmN8 ;Dofpg] sfo{
k|=;= 100 1.11 26.00 100 1.11 26.00 100 1.108 26.000

14

em=lk=g=kf ,^ / !)  hf]8g] 6f]6L gfnfdf emf]=k'= lgdf{0f 
k|=;= 100 3.15 74.00 100 3.15 74.00 100 3.154 74.000

15

;k{ 8; pkrf/ s]Gb| vfg]kfgL wf/f h8fg
k|=;= 100 1.07 25.00 100 1.07 25.00 100 1.065 25.000

16

em=lk=g=kf !! Sf] ;fj[hlgs zf}rfno dd{t tyf ljw't df]6/ h8fg
k|=;= 100 0.96 22.50 100 0.96 22.50 100 0.959 22.500

17

;jfl/ ;fwg vl/bsf] gk'u /sd e'QmfgL
k|=;= 100 40.49 950.00 100 40.49 950.00 100 40.486 950.000

18

em=lk=g=kf= )@ ;/ZjtL ;fpbsf] 3/ b]vL huGgfy e§sf] 3/ hfg] 
;8sdf u|fe]n ug]{ sfo{ k|=;= 100 1.49 35.00 100 1.49 35.00 100 1.492 35.000

19

bln ;zlQm s/0f sfo{qmd
k|=;= 100 1.28 30.00 100 1.28 30.00 100 1.278 30.000

20

em=lk=g=kf ,!) k|xl/ ljt glhs vfN8f v'N8L k'g{ sfo{
k|=;= 100 0.43 10.00 100 0.43 10.00 100 0.426 10.000

21

gu/kflnsf sfof{no ejg lgdf{0fsf] gk'u /sd e'QmfgL
k|=;= 100 5.11 120.00 100 5.11 120.00 100 5.114 120.000

22

emlk=g=kf= )% s[i0f dlGb/ kl/;/ leq dd{{t sfo{
k|=;= 100 1.07 25.00 100 1.07 25.00 100 1.065 25.000

23

emlk=g=kf= )* s;/f]nsf lelq ;8s dd{{t sfo{
k|=;= 100 0.94 22.00 100 0.94 22.00 100 0.938 22.000

24

emlk=g=kf= !) lqzlQm 6f]n  ;8s dd{{t ;Def/ sfo{
k|=;= 100 0.58 13.50 100 0.58 13.50 100 0.575 13.500

25

emlk=g=kf= ! K'fln; :6];g k'j{ hfg]  ;8s dd{{t ;Def/ sfo{
k|=;= 100 0.77 18.00 100 0.77 18.00 100 0.767 18.000

26

emlk=g=kf= & sfnfkfgL jfw b]vL pQ/ hfg]  ;8s dd{{t ;Def/ sfo{
k|=;= 100 0.64 15.00 100 0.64 15.00 100 0.639 15.000

27

emnf/L lkknf8L gu/kflnsf leq jiff{n] cj?b ePsf ljleGg ;8s 
dd{t ;Def/ sfo{ k|=;= 100 7.50 176.00 100 7.50 176.00 100 7.501 176.000

28

gu/kflnsfsf] cFGtl/s cfo j[lb sfo{qmd
k|=;= 100 2.13 50.00 100 2.13 50.00 100 2.131 50.000

29

g]kfn /]8qm;;f;fO{l6 pkzfvf emnf/LnfO{ kmlg{r/ vl/b
k|=;= 100 0.64 15.00 100 0.64 15.00 100 0.639 15.000

30

Xo'dkfO{k vl/b
k|=;= 100 12.78 300.00 100 12.78 300.00 100 12.785 300.000

31

k|zf;lgs vr{ - sG6]h]G;L _
k|=;= 100 3.37 79.00 100 3.37 79.00 100 3.367 79.000



gu/kflnsf cfGtl/s s]fif / /fhZj jf*kmf* jf^ 

;+rflnt  k'lhut sfo{s|dsf] hDdf 100.00 2346.50 0 100.00 2346.50 0 100.000 2346.500

cf

lh=lj=;= jf^ gu/kflnsf vftfdf /sd lgsf;f eO{  

;+rflnt of]hgfx?

1 emlk=g=kf= !! lbkgu/sf] cw'/f] sNe6{ lgdf{0f ;dkGg ug]{ sfo{ k|=;= 100.00 9.50 143.00 100.00 9.50 143.00 100.00 9.50 143.00

2 gu/kflnsf sfof{no ejg lgdf{0fsf] gk'u /sd e'QmfgL k|=;= 100.00 49.44 744.00 100.00 49.44 744.00 100.00 49.44 744.00

3 d'Qm sd}of / jflb dlxnfx?sf nflu j]tjf; tflnd k|=;= 100.00 10.63 160.00 100.00 10.63 160.00 100.00 10.63 160.00

4 emlk=g=kf= !  l;b j}hgfy p=df=lj= kvf{n lgdf{0f k|=;= 100.00 7.77 117.00 100.00 7.77 117.00 100.00 7.77 117.00

5

emlk=g=kf= ! J]fnf}/L /fhdfu{ b]lv u0f]zk'/ l/Ë/f]8 hghfu[lt lg=df=lj= 
hfg] ;8s u|fe]n ug]{ sfo{ k|=;=

100.00 9.77 147.00 100.00 9.77 147.00 100.00 9.77 147.00

6

emlk=g=kf= !) lqd'lt{ k|f=lj=sf] 5t lgdf{0f sfo{
k|=;=

100.00 6.45 97.00 100.00 6.45 97.00 100.00 6.45 97.00

7

emlk=g=kf= ^ j}hgfy p=df=lj=kvf{n lgdf{0f 
k|=;=

100.00 6.45 97.00 100.00 6.45 97.00 100.00 6.45 97.00

lh=lj=;= jf^ ;+rflnt of]hgfx?sf] s'n hDdf 100.00 1505.00 700.00 100.00 1505.00 700.00 100.00 1505.00

efl/t k|ult k|ltzt

ef}lts k|ult k|ltzt

cfly{s k|ult k|ltzt

emnf/Llkknf*L gu/kflnsf sfof{no emnf/L s~rgk'/ .

100.00℅

100.00℅

100.00℅


